FCAL energy calibration QC J

Igal Jaeglé
Thomas Jefferson National Accelerator Facility
for the GlueX Collaboration

period48

GLUEX . izfon L, PrimEXWV"DS'S

ijaegle@jlab.org (JLab) FCAL energy calibration QC period48 1/15



Table of contents

o Overall QC

© QC per rings

ijaegle@jlab.org (JLab) FCAL energy calibration QC period48 2/15



Overall QC vs iteration
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Overall QC, summary distributions
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Overall QC, summary maps

@ Fitted peak map @ Fitted width map @ Gain map
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Overall QC, bad channels
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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